ANSVINIIULLUIVIULALLADNYIN

2971 (loop)
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®991u (Flowchart)
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while(true)

++ —— Y% < == > I=
if (...) break;
. while

if, if-else

‘ wuyaGiu \ \ wu'kifau \

start

a I 'I'
o '

=5 | ¥
@ |
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F997U ¢ UFTENEAITYINIIUUAN

210 uligau : while(true) { ... }

Sudiayaann
wilumuw

hm = height/100
bmi = weight/(hm*hm)

hm = height/100
bmi = weight/(hm*hm)

{
. UFRINANY
i bmi
bmi @AW
Cstop ) (Cstop )
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while ( true ) {

m;{m 1
A 2
e 3

}
public static void main(String[] args) {
int k = 0;
while (true) {
System.out.printin("k = " + k);
k =k + 1;
3
3
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fatiuIanIe

import java.util.Scanner;
public class BodyMasslndex {
public static void main(Stringll args) {
Scanner kb = new Scanner(System.in);
X while C true ) {- - -
! System.out.print(“iwin (kg.) = ");
! double weight = kb.nextDouble();
l System.out._print("anuge (cm.) = ");
\ double height = kb.nextDouble();
: double hm = height / 100.0;
' double bmi = weight /7 (hm * hm);

v System.out.printIn("dumama = " + bmi);
V3 )
3} BMI= weight(kg.) vinouluriulaizay
eig m Hlddasngallsunsuiag
3 height?(m?) I Tl
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AN 1IARAANANNIIIU

U

ussenaauladia dwaliassng (Boolean expression)
nsufoudisulunsiivuadanla
MafmulBousuiiays < > <= >= = ==

if (a==b ) break;

wansilsauiiauariéan true wia false ‘
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dadunania : l@nldsunsudiaviniiniduau

import java.util.Scanner;
public class BodyMasslndex {
public static void main(String[] args) {
Scanner kb = new Scanner(System.in);
while ( true ) {
System.out.print(“iwin (kg.) = ");
double weight = kb.nextDouble();
if (weight < 0) break;
System.out.print("anugs (cm.) = ");
double height = kb.nextDouble();

Gatiny ; uaaILRUITUZY

public static void main(String[] args) {
int k = 0;
while (true) {
System.out.printin(k = " + k);
k =k + 1;
if (k == 5) break;
}
3

| Tusunsuiuamsals

double hm = height /7 100.0; k =1 k=0 k=0
double bmi = weight /7 (hm * hm); k =2 k=1 k=1
System.out.printIn('dufhnana = " + bmi); k=3 k=2 k=2
} k =4 k =3 k =3
k=5 k=4 k=4
4 k =5
}
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wauldviarauuy Tduae : ANEAKY (++) aaagnily (--)
int k = 0; ec=cC+ 1; c += 1; c++; ++cC;
while (true) { — - — - - -
System.out.printin(C’k = ™ + k); ec=c-1;c-=1; C——; —-—C;
K=K+ 1; e ++ ffu -- UdAudndsvingdu
if (k == 5) break; (a + b)++ 36
int k = 0;

while (true) {
if (k == 5) break;

System.out.printIn("k = " + k);
k =k + 1;
3 int kK = 0;

while (true) {
if (k >= 5) break;
System.out.printin("k = " + Kk);
k =k + 1;

}
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int k = 0;

while (true) {
if (k >= n) break;
/7 ...
K++;

}

2110101 Ymnssunaufinaas 3y (02/06/52) 12




297uuul while

int k = 0; int k = 0;

while (true) { ] (Jwhile (k <5 {]
if (k >= 5) break; -
K++;
k++; ¥

¥ v iauuuud
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fratn9 : Anadauasiaya 10 67

import java.util._Scanner;
public class Average {
public static void main(String[] args) {

Scanner kb = new Scanner(System.in);
double sum = 0;
int k = 0;

while (k < 10) {
System.out.print("dexa ="");
double data = kb.nextDouble();
sum = sum + data;
k =k + 1;
¥
double average = sum / 10.0;
System.out.printIn("suaidu=" + average);

¥

}
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2110101

fratne : Aadavasdaya n 6

}

import java.util._Scanner;
public class Average {
public static void main(String[] args) {
Scanner kb = new Scanner(System.in);
System.out.print("inuwutona="");
int n = kb.nextInt();
double sum = 0;
int k = 0;
while (k< n) {
System.out.print("dena="");
double data = kb.nextDouble();
sum = sum + data;

k =k + 1;
}
double average = sum / n ;
System.out.printIn("awafs =" + average);
}

fae9 : Aadnuasyadiaya (LAnanuay)

import java.util._Scanner;
public class Average {
public static void main(String[] args) {

Scanner kb = new Scanner(System.in);
double sum = 0;
int k = 0;

while ( true ) {
System.out.print("dexa ="");
double data = kb.nextDouble();
if (data < 0) break;
sum = sum + data;
k =k + 1;

¥

double average = sum / k ;

System.out.printIn(awasy ="

3

+ average);

}
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@atd : wnnigas (udlau) uuuldinu

public static void main(String[] args) {
Scanner kb = new Scanner(System.in);
System.out.print(a = ");
double a = kb.nextDouble();
double x = 1.0; X, :l[xkfl+i
while (true) { 2
X = (x + a/x) / 2.0;

if ( Math.abs(x*x - a) <= le-5 ) break;

System_out.printIn(C'aised=" + X );

)

|x2—a| < 10°

favsziviFasanuinduuas double
12du 0.1+0.1+0.1 ‘Wiwindu 0.3
(0.1+0.1+0.1 — 0.3) =~ 5.6x10-7
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double : asdaaue'ly 100%

public static void main(String[] args) {
double a = 0.1;
double b = a + a + a;
System.out.printin(b — 0.3);

}

5.551115123125783E-17

e AauRImasLAY double niloddreiiafi 64 4a
e faunadndn J9durvaLAula lainsiuen 100%
e F9avsrivnsuZauiauanuvinduuas double
e M slinsilaauAaunsiarlnddunnn 9 unu

la-b| < 1010 ‘ ‘|a—b|/max(|a|, |b[) < 1010
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ASKR}TE msm's'm‘f/’iaaomaa d
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U5unviunaInIsuinigag

while (true) {

X = (X + alx) / 2.0;

if (Math.abs(x*x — a) <= le-5) break;
3

while (true) {
if (Math.abs(x*x — a) <= 1le-5) break;
X =X+ arsx) / 2.0;

}

while (Math.abs(x*x — a) > l1le-5) {
X = (X + asrsx) / 2.0;
}

2110101 mnssunaufinaas v (02/06/52)

20

DWindow

AL NLaY JLab AeaLdu 193 Awdau

import jlab.graphics.DWindow;
public class Eye {
public static void main(String[] args) {

DWindow w = new DWindow(250, 200);
w.drawEllipse¢l25, 100> @ 60):

w.FillEllipse(125,[ 100, /50, 50);%
} : \

3

anuaalndaud

import jlab.graphics.DWindow;
public class MovingBall {
public static void main(String[] args) {
DWindow w = new DWindow(250, 200);
double x = 0, y = 0;
while (true) {
w.Ffade(1);
w_FillEllipse(x, y, 50, 50);
X =X+ 2; /7 dsusiumis x iialdilusaudaly
y =y +1; // susuwio y iilatlilusauda’lal
w.sleep(100); // wuansvinenu 100msec.

/7 amluiuiaianeas 100% (auviua)

////’ E N } ‘li;mm e
(0,0) (250, 200) ¥
/89 w.fade(0.1) g
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AIELTUNTLETY vinadw'lsvignuaatduariuiad

* LAWINNNITWIT I %

5% 2 M6 1
5.2 %2 ¢ 1.2

import jlab.graphics.DWindow;
public class MovingBall {
public static void main(String[] args) {
DWindow w = new DWindow(250, 200);
double x = 0, y = 0;
while (true) {
-fade(1);

savn1slignuaaaanai
UnFUNININAE

=

w.FillEllipse(x, y, 50, 50);
X = (X + 2) % 250;
y = (y + 1) % 200;
w.sleep(100);
} X = 246
3 X = (246 + 2) % 250 = 248 % 250 = 248
v, %= (248 + 2) % 250 = 250 % 250 = 0 23

2110101 ¢

('irm LEE|
Gavliddinasau

Winduidnisiadauiifiazuuay
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it @ JF9d9vih

~ . true
UWIUYNY

false g IIlla
Waulylu i 1y 250

it ( Gwaidldar a5y wsa uia ) {

aquendsitvirudadaulaly i€ (fu a3
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JNUARLAINIY

public static void main(String[] args) {
DWindow w = new DWindow(250, 200);
double x = 0, y =0, dx = 2, dy =1, r = 25;
while (true) {

w.fade(l);

w.FillEllipse(X, y, 2*r, 2*r);
X = X + dx;

y = y +dy;

if (x +r >250) { dx = -dx; }
ifXx-r<o0 ) {dx=-dx; }
if (y +r>200){dy=-dy; }
if(y-r<0 ){dy=-dy;}

w.s1eep(luv);

} N
H i

X+r
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ATIARAUAINNYNADIADUVINIU

public static void main(String[] args) {
Scanner kb = new Scanner(System.in);
System.out.print(a = ");
double a = kb.nextDouble();
if(a<0){
System.out.printin( a deslifuay " );

System.exit(-1); o o
}

double x = 1.0;

while (Math.abs(x*x — a) > l1le-5) {
X=X+ arx) / 2.0;

3 ‘

System.out.printIn("sniges=" + x );

}

| fa duau |x*x - a] fid *x + Ja]), iy |
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a1y : Juleuasduavi

w=[d {MJJ*{KJJ{EJJFSC]”]ON
10 4 4

k =y mod 100, ¢ {LJ

100

y @aaall a.@ dru m Aaausiau = 3, 4, ..., 13, 14
wilanidniiaa m = 13 UNUNNTIAN UWRZ 14 ununuaius
dufluzasdaudianilvianallas 1 e

fguiau il a.6. 2009 fuiuazls ?

3
)
D
e
=]
o
o
=
=
IRNTINN)

d=2,m=6, y = 2009
k=9, c=20
w=((2+18+9+2+5+100) %7
=136 % 7
=3

0 — 1%, 1 — annmel, 2 — §uns, ..., 6 — @5
Suit 2 finunau 1l a.a. 2009 Aa Jusivas
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f{99U : Tuleuasduavi

true

- U893

c«Lly/100], k<« y% 100
w « (d+126(m+1)/10)+ k+Lk/ 4l +|c/al+5c) %7
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Tudsunsu : Juleauasduarvi

Scanner kb = new Scanner(System.in);
System.out.print("ju=");

int d = kb.nextInt();
System.out.print(laudeu="");

int m = kb.nextInt();
System.out.print("d(a.a)="");

int y = kb.nextInt();
if (m<3){
m=m+ 12;
y=y-1;
3
int c =y / 100, k = y % 100;

intw= (d+ 26*(m+1)/10 + k + k/4 + c/4 + 5*c) % 7;
if (w == 0) { System.out.printIn(’"ai");

if (w == 1) { System.out.printin("'aiiiad");
if (w == 2) { System.out.printin(’uni");
if (w == 3) { System.out.printIn(’'8ms");
if (w==4) { System.out.printIn(*ws");

if (w == 5) { System.out.printIn("wavsud');
if (w == 6) { System.out.printIn(ani");

o o o o o o
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- = o 1 < o 1 Qs 1 Qs L4 Qs
if-else : %91iNaeNd LNAViINaENY GIRAENY @ MIURAE MIUTAN
false | true o fdiayalusiuls a Au b min = a:
Bool _ « . o max = b;
o dasnstidiuls i (8 b) {
— —t — min \Audtiaauas a Au b min = b;
do this if false | | do this if true c o o max = a-
l I — max lufIuNnuas a iu b 3 7
T if (a<b) {
if ( Gwandlgar 359 wia i ) { min = 2;
o max = b;
Aquedsitvivrudadaulutu i€ 1Ty a5y } else {
} else { min = b;
nAquarsTvivIndaaulyly i€ 1y 72 } max = a;
}
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o, ' . ' o aa ' start
Mactinv : wAlszunauas T i 22/7 C/D
n<«22,d«7 ,
_ ~ i « sndszanmaes T Naztdoa
o | m—-22/7 | ~.0'001264"' &eloo
e WA n way d Avinli | m—n/d | < 106
false
nd  mo(n+l)id  mon/(d+l)
22/7 0.144 0.392 true
23/7 0.287 - A, <« |pi—(n+1)/d]
23/8 0.142 Az i AZ(— | pi = n/(d+1) |
24/8 0.017 0.475 - 355/
25/8 0.108 0.364 PO false true
26/8 0.233 0.253 1197 0.9, 480
27/8 0.358 0.142 ded+1 nen+1
27/9 0.030 0.442 A Ay A=A,
28/9 0.081 0.342 I ]
355/113 L 3
353/112 0.019 0.018 4
353/113 0.009 0.045 e
354/113 0.000 0.036
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Tusunsu :wnendszanaiag T AdnIN 22/7 nauAv (Block)
. - - - - \ if (diffN < diffD) {
ublic static void main(Strin args ™ e & !
public static void main(Stringll args) { * Block Aanguende asaudan { }| n=n+ i
- ’ o7 R e o o . X i = di B
double p! = Math.PI,_ // 3.:!.41592653589793, ° ﬂ'\llﬂ'lﬁx‘ltﬁ]ﬂ’ﬂ)]a\‘) |f, else’ Wh'le T else {
double diff = 100, diffN, diffD; Bidaslal ﬂva d=d+ 1;
while (diff >= 1e-6) { ieavlalu block A'le diff = diffD;
diffN = Math.abs(pi - (n + 1) 7 d); 3
diffD = Math.abs(pi - n /7 (d + 1));
if (diffN < diffD) { if (x<0){ if (x <0) if (x <0) x = -x;
n=n+1; X = -X; X = -X;
diff = diffN; }
} else {
d=d+ 1; if (a <b)
diff = diffD; min = a;
H else
¥ min = b;
System.out.println(n + /" +d + " = " + (n/d));
¥ while (Math.abs(x*x — a) > le-5)
X = (X + a/x) / 2.0;
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A { } uav if, else, while dassedv

Scanner kb = new Scanner(System.in);
System.out.print("ju=");

int d = kb.nextInt();
System.out.print(laudeu="");

int m = kb.nextInt(Q);
System.out.print('d(a.a)="");
kb.nextint();:

- 3 { :::i:¥<i:::
+12; ifM<3)m=m+12; y = 1;
- 1;

3

=y / 100, kK =y % 100;

intw= (d + 26*(m+1)/10 + k + k/4 + c/4 - 2*c) % 7;
if (w == 0) System.out.printin("imsi™);

if (w == 1) System.out.printin("'oiad");

if (w == 2) System.out.printIn('3uns'");

if (w == 3) System.out.printIn('dmi");

if (w == 4) System.out.printIn(*ws");

if (w == 5) System.out.printIn("wavisud')

if (w == 6) System.out.printin('ani’");

3
I
<3 A
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a '3

Maeg @ AWAUY{u

% & o a
e i1 a tiudruiua
lif (@w2==1) |

o dmanduvav a (uaa 7
[if (((InDa/10)%10 = 7) |

e 1 a fiddous 1 &9 100
‘if (1 <= a && a <= 100) ‘
1<a<100
1<a uwuay a<100

N asiiauadag "uay”

"w3a" lulanmasia’ly Y
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38

=

Aty Awiylu

¢ fnadavanuusrunudasiifivineduliu 10
[iF ((1-x2)*(x1-x2)+(y1l-y2)*(yl-y2) > 100) |

2 2
\/(Xl_xz) +(¥1—Y2)" >10
e d1NNANFAVIILATUIAN LAY

if ((X1-x2)*(x1-x2)+(yl-y2)*(yl-y2)
<=(rl+r2)*(rl+r2))

v oy

o dTaundagualls "daa”
if (Math.random() < 0.5) |
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